3, Each question carries 1 mark

;l.mecofactorof-ﬁmhedehemimm‘z (-).3 45‘ .
15 =7
(a)-18 (b) 18 () -7 (7 @
2. If A and B non-singular matrix then, which of the following is incorrect? ¢ A g
(a) A% = implies A™" = A ()11 =1 AN
(c)IfAX = BthenX = B*A (d) If A s square matrix of order 3 then [adj A| = |A|’ )
3. The greatest positive integer which divide n(n + 1)(n + 2)(n + 3) foralln € N is
(@)2 (b) 6 (c) 20 (d) 24
4, There are 10 true or false questions in an examination, Then these questions can beanswered in
(a) 240 ways (b) 120 ways () 1024 ways (d) 100 ways
5, The x-intercept of the straightline 3x + 2y - 1 = 01s
(@3 (b)2 (0} (d);
¥ 6. The equation of the circle with centre on the x axis and passing through the origin is
! @)X -2ax+y* =0  (b)y?-2ay +x2 00 (OJxdsty’ =a* (d)x? — 2ay +y* =0
7. The value of cos (—480°) is
(@) V3 ()% ©); 5
8. The value of % i
@4 OF oF @)%

9. The minimum value of the function f(x) = |x| is

()0 (b) -1
10. Ify = log x, theny, =
$ e
@; (b -5
11, Relationship among MR, AR and g is
= e (b) g = AR - MR

Kindly Send Me Your Key Answer
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the ordinary ummyté
@A=2+D[(1 +i)*~1] ®A=7la+)"-1]
CLEL @P=7+D{1-+D)7
14. Example of contingent annuity is

(a) Instaliments of payment for a plot of land

(b) An endowment fund to give scholarships to a student

(c) Personal loan from a bank

(d) All the above
15. The correct relationship among A.M.,G.M.and H.M.is ‘ :

(@ AM<GM<HM (b)GM2AM2HM, (¢)HM. 2 GM. 2 AM. f‘ﬂA‘ﬁG‘M.;zHA,&_“
16. The events A and B are independent if A‘

(@A P(ANB)=0 (b) P(An B) = P(A) x P(B) (c) P(A N B) =P¢A) + P(B) (d] P(AUB) = P(A) xw ‘
17. Correlation co-efficient lies between -

(a) 0 to o (b) <1to +1 (c)=1to0 (d) ~1toe

18. The correlation coefficient

=ty Ot (O abg™ by W=t i

19. A solution which maximizes or minimizes the given LPP is called i

(a) a solution (b) a feasible solution (€) an pptimal solution (d) none of these
20. Network problems have advantage in terms6f projeet
(a) Scheduling (b) Planning (¢) Controlling (d) All the above

PART -1l
1. Answer any 7 questions
2. Each question carries 2 marks
3. Question number 30 Is compulsory

21. The technology matrix of an @éonomic system of two industries is 5! 2(1) ggg] Testwhethlr

per Hawkins Simon<€onditions.
22. Find the equation of the circle having the centre (3,5) and radius 5 units :
23. For the function y = x*4 19, find the values of x when its marginal value is equal to 27.

24. A man travelled by car for 3 days. He covered 480 km each day. On the first day h
hour. On the second day, he drove for 12 hours at 40 km an hour and for the last ¢
What is his average speed?

25. From a class of 32 students, 4 students are to be chosen for a competitio;
| 26, Find y, for the function : y = e3*+2

Q 27. The chairman of a society wishes to award a gold me
% and Statistics. If this medal costs to ¥ 9,000 evex:y ,4
b to be deposited now.

- 28. From the following data calculate the co rel.
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&l iy

L. Answer any 7 questions
2. Each question carries 3 marks

3. Question number 40 Is compulsery

0 40
31 fhim, , '—;—j— = 448, then find the least positive

Integer n.
$ =1 =3 s ¥
32 "x:l-s 3 = 2
-5 } f and Y = (3 i ’1 then, find p,q If Y = X

33. If the production of a firm is Bivenby P = 4LK - 12 4 K2 I, > 0.K > 0, Prove that LM 2 . 1]
34 Evaluate "'f_—'f/' J
15, If the dividend received from 9% of 220 shares Is 11,620, then find the number 6f shares
36. The parabola y* = kx passes through the point (4, ~2). Find its latus rettium and (6cus.
4
37 An unbiased die 1s thrown twice. Let the event A be odd number on the first theow 3nd B the event odd number oo the
sceond throw, Check whether A and B events are Inde pendent

$8.1ftan (x + y) = 42 and x = tan™! (2), then find y.
19. Draw the event oriented network for the following data

Events [1 2'[:144‘5 67
5 k u

1
| Immediate |

111]23]/3]45]|58
| Predecessor

\ -
dy siné (a+y)

40. If sin y = xsin (a + y), then prove that ']——
ax

sin a

PART - IV
1. Answer all the questions 7x5=35
2. Each question carries 5 marks
41 a) Find the equation of the cirele passing through the points (0,0), (1,2) and (2,0).
(OR)

b) Solve by matrix inversion method: 3x —y + 2z = 13%2x+y—-2=3;x+3y-52=-8
x~2

42. a) ReSOlve into partial fractions : (x4+2)(x~1)?

(OR)
b) If A + B'=45°, prove that (1 + tan A)(1 + tan B) = 2 and hence deduce the value of tan
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%6 |8 [ [w]0]a|2m]n]

b) Suppose the inter-industry flow of the product of two industries are given as under.

N i g S e : »
A 3 % Y § W "4 S ¢ e il
e 3

1011215 | 15|18 |25 | 22 [ 26 | 28 =
(0R) o
b) Ify = acos mx + bsin mx, then show that y2 + m?y = 0.
45.2) Find the stationary values and stationary points for the function: f)=2+9* +12x+ 1. ~ :
(OR) ¥'s ;

Consumption sector
Production Sector % v Domestic demand Tota
X 30 40 50 I 120
-—
Y 20 10 30 60

46.a) Which is better investment: 12% ¥ 20 shares at 216 (or) 15% ¥ 20 shares at ¥ 24

47. a) The heights (in cm.) of a group of fathers and sons are given below:

Determine the technology matrix and test Hawkin's -Simon conditions for the viability of the system. Ifthe
L

domestic demand changes to 80 and 40 units respectively; what $hould'Be the gross output of each

in order to meet the new demands. &
(OR)

Maximize Z = 6x, + 8x, subject'to constraints 30x, + 20x, < 300; 5%, + 10x, < 110;and x;,x; 20

2t
=

163 | 165 | 167 | 170 | 167 | 172

Heights of the fathers | 158 166

Heights of thesons | 163|158 | 167 [ 170 [ 160 | 180 | 170 | 175

Find the lines of regression and estimate the height of son when the height of the fat!
(OR) 1
b) In a shooting test the probability of hitting the target are .:-fm- ;,,% for By ~.:l~7
the probabilities that T) ;

4
.

e
S

b) Solve the linear programming problem by graphical method. o
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